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Note : Answer any Four questions.

(i) N9 Y97 & T YT %] FHIR TF G 5T B3 |

Solve all parts of a question consecutively together.
(iii) ¥l 57 F 79 78 & JRET FHiford |
Start each question on fresh page.
(iv) @1 979137 § 37 817 #1 1 7 3 31garg 8 ar=r 8

Only English version is valid in case of difference in both the languages.

1. (i) 28 kN &= & 28 kNéﬁ@wqﬁaﬁaaﬁzmﬁaﬁ#ktsﬁsaﬁa&mm
HINA | Sig & gl g w1 9o s 2, e o aam, gdted qun swaw
WWW: 50 N/mm?2, 60 N/mm? @27 35 N/mm?2 % |

Design cotter joint subjected to a load varying from 28 kN in tension to 28 kN in
compression. The material for all the components is steel with the allowable

stresses in tension, compression and shear as 50 N/mm? 60 N/mm? and

35'N/mm? respectively. : (12%)
(i) wfererer Heohegor v LA <t farfert =t avia Hifsd |
Describe methods of reducing stress concentration. : 5)
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C =0.85 x 105 N/mm2 i | :

A spring is made from a wire 1.25 mm diameter and 750 N/mm? as its yield

_strength. For a mean diameter 12.5 mm and 14 active coils of the spring,

determine :

(a) Static load corresponding to the yield point of the material and deflection
corresponding to that '

(b) Solid length assuming that the ends are square and ground

(¢) Stiftness of spring

(d) Pitch of the wire so that the solid stress will not exceed the yield point

Take C = 0.85 x 10° N/mm?. : (12%)
T U diee & wRit Sl S aEee|

Explain initial stresses in screws and bolts. B)
ST TE HHTAR fhete gt < el whifen 3icnta wTHed i THeTH |

Explain strength of transverse and parallel fillet joints in axial loading. (10)
gtmgvﬁ%%w%gﬁ&?mﬁmavhaﬁﬁﬁ |

Describe different criteria for the selection of factor of safety. . (7%)
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Explain design procedure for a shaft subjected to twisting and bending in

combination. _ (12%)
ferafier ot aeffemtor fehet srepTt foparm ST 27

How bearings are classified ? &)
e aTed o ford S ot % ford SRTERET shH THTE |

Explain design procedure for lever used for safety valve. (12°%%)
eyl 3 S ¥q FHeS T T aUi HIfE | |

Explain systematic approach for the selection of material. 3)
i 273 TElen Ut 3 o STfERedT TohE TS |

Explain design procedure for pin type flexible coupling. (12°%)
Qe e Rt 3 =g W feoft fafet |

Write comment on the selection of rolling element bearing. 5)



